

$$K1) \mu \times (9 + \mu) =$$

$$K2) (\omega + \nu) \times \omega =$$

$$K3) (\kappa \times \mu) - (\nu \times \nu) =$$

$$K4) \nu \nu_0 - (\mu \times 9) =$$

$$K\omega) K \times (\omega - 9) =$$

$$K\psi) (K \times \Lambda) + (K \times \Lambda) = \dots \times \dots =$$

$$K\nu) (9 \times 9) - (9 \times \omega) = \dots \times \dots =$$

$$K\Lambda) (1K + K) - (K \times K) =$$

$$19) (U \times Y) + (9 \times V) =$$

$$20) (V \times \Lambda) - (9 \times 9) =$$

$$21) (Y \mu - K_0) - (K \times K) =$$

$$22) \mu Y + (K \times 10) - (9 \times 9) =$$

$$\omega^\mu) (F \times \wedge) + (F \times V) = \dots + \dots =$$

$$\omega^F) (g \times \omega) - (g \times F) = \dots \times \dots =$$

$$\omega\omega) g \times F^\mu = (\dots \times F^\mu) + (\dots \times F^\mu) =$$

$$\omega^g) (F \wedge \times g) - (F \wedge \times g) = \dots \times \dots =$$

$$\omega v) (v \times y) - (\mu \times y) =$$

$$\omega 1) \mu \times (\mu \times v) + (\mu \times y) =$$

$$\omega 9) (\mu \times 1 \times \omega) + (\mu \times y) =$$

$$y_0) \left((1\mu + \mu) - 1\omega \right) \times y + y =$$